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Can you see the solution??
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Internet Service

NBtel charges a monthly fee of $20.00, and an additional $2.00 per hour. . ’)’?
Sprint charges a monthly fee of $10.00, and an additional $4.00 per hour. * 0(\ *
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THEY TAKE UP

A LOT
WWW
T e

ALWAYS
PROPERLY
DRAWN.

SWERS
ARE NOT
ALWAYS
INTEGERS!

CREATING
GRAPHS
CAN BE
TIME
CONSUMING!
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There are other ways to solve
Systems of Equations!

EI|m|natloK

Elimination is when you "eliminate" one of the varlables



Syste i
ystem_of_equations[1] why graphs are not that great.notebook January 09, 2015

Elimination by Addition

+ly - 2X = 5 EﬁuaHoh“l |
ding variables
= Y Make sure the corresPon .
{-,y - 4 E‘l na Hov "L constants and equal signs are lined up
— Don’t

FORGET!
\ | ® @

) c} You must explain what you are doing.
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Elimination by Addition

Consider the system

Tonkof

\nterseckionN

(4,-05)
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Elimination by f\_ddition\

Consider the system

X -[2y\=5
+ 2X =7

Lets add both equations
to each other
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Elimination by Addition

ﬂ + 3y F 14 Who would you eliminate??
ﬁ;’( +4yF 7
O +7l¢, '9" K)7d\ﬂ){ 0;

F(-x) 9‘1_;‘47 14447)  $0--- ’Z‘-’l_'y \n}c-rscc,\'\'m
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Elimination by Addition

[x ¥ 3y =14
|-x|+4y=7

January 09, 2015
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Elimination By Subtraction
6x+11y=-5 |, +[lbF-5

J6x + 9y = -3) by -11=-5
- — by=-S+1]
byy \\7‘«5 by:b
“by Iyt 3 b &
Ay - = D X=)
/23_ 2 [T 08 Titaction

)(:—\ (\)‘\)
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-2y -6x = 16
’ - 2y=-1LrY
ngom)%e- -_-__2_1——_"_'§
...—Z_\/“"'Y:"rz. L T2
_\E'qu-(ov':“o) Y:?‘ |
- +x=-\L
'\'Z\1 Flox _’)\o ’Pdlm‘} C”F Thnlers
x=-28 (-4,4)
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Solve the following System of Equations

3X + y - O Make sure the correSPO“dmg varicbles,
ake

- ns are lined up.
( At y - 8 )/YB constants and equal sign

Don’t

— FORGET:
DYty = O %(@(a)
~3x+3¢=2hy

ﬂ‘ - _‘.Zm You must explain what you are doing.
q / :é/ Xz

’PO VAY +

[2¢)
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Solve the following System of Equations

(-ZX +y = —7) -2

Make sure ¥

-4X + loy - -6 constants an

ing va
he corresponding v ed up.

d equal signs are lin

Don’t
FORGET!
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Solve the following System of Equations

3 (— 2X ’ 8y - 2 ) Make sure the corresponding ‘\’?r;‘;b:?'
+ z (BX - 3y = 15) cc?r\s’mn’rs and equal signs aré "

el | S
’f(o)(-(ov] = %0

T o)
y:L ’Z\L\'HQ:Z
-Wx=2"lg

2x="N

(7)‘7.\ —:L\‘:?L

Ore doing‘
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6x + 11y =-5
6x + 9y = -3
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1. lﬁ
a *747
)X’_ =5 ._lg

Lets add both equations

+ 2x =7 to each other
[ W2y 3X = 12 Z/
2
solve for X

ANS: (4, y)
x=4

Now solve fory (HOW???)
- sub the value of x into one of the equations and solve for y

X-2y=35 \ \ | J
_4-2y=5-Y - - = —
?_Zy:’_ 7/ 2 \2
y=-1
2

intersection point (4, - 0.5)
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2.
6x + 11y = -5
-6x - 9y = +3

2y = -2

y =-1

solve for x
ox + 11y =-5
6x + 11(-1)=-5
6x -11=-5
6x =-5+ 11
6X =6

x =1

Careful you are subtraction all of the second
(switch all signs on t second equation)

Intersection (1, -1)

January 09, 2015
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Consider the system

3x + 6y =18 Now subtract the equations
-3X - 3y = +6
3y =24
y =23

Sub into equation 1 (original) or the above

X+2y =06
X+2(8)=6
X+16 =6
X =6-16
x =-10

(-10, 6)

20



System_of_equations[1] why graphs are not that great.notebook

January 09, 2015

21



System_of_equations[1] why graphs are not that great.notebook

January 09, 2015

22



	Page 1: May 19-10:32 PM
	Page 2: Jan 8-7:05 PM
	Page 3: May 21-12:06 PM
	Page 4: May 21-12:41 PM
	Page 5: May 21-12:53 PM
	Page 6: May 21-1:12 PM
	Page 7: May 19-9:50 PM
	Page 8: May 19-9:50 PM
	Page 9: May 19-10:08 PM
	Page 10: May 19-10:08 PM
	Page 11: May 19-10:22 PM
	Page 12: Jan 9-9:27 AM
	Page 13: Jan 9-9:27 AM
	Page 14: May 21-1:12 PM
	Page 15: May 21-1:12 PM
	Page 16: May 21-1:12 PM
	Page 17: May 21-1:25 PM
	Page 18: May 19-9:50 PM
	Page 19
	Page 20: May 19-9:56 PM
	Page 21: May 21-1:35 PM
	Page 22: Jan 8-7:13 PM

